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(A)— e 383385 0 AREMIRA S 8. NET & L&3EHAT
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(C)lava #2 X 43 T A& PR A 4 694 /L5 (Byte code)
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8. Z TCP/IPi@#ip T4 P » T IIAR— ML AL 7T 15 B fo A483% (Private
Network ) 18 B ?
(A) 10.0.0.0/8 (B)172.16.0.0/12 (C)192.168.0.0/16 (D) 198.18.0.0/15
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(A)check bit  (B)extended bit (C)parity bit (D)redundancy bit
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& Arduino Uno 4R+ LM H — %8 LED » 4% Blink $a6] 82 X 14 & P91 » 42 03k
FREDEEEFTASF R R 288 LED B £78 — @B 4 ?
(A)AO (B)DO (C)D13 (D)GND

ZOSIBAY » F—R aEEHGELE  FEHSRE - Big - mE -HBE?
(AEHELER BEBE Oe3E ODETE

AL EERORMBES -5 A EBRFAR—BEBE MO B EZRAERE?
(A)XOR (B)NOR (C)NAND (D)OR

T o4& AR E A IPVO ALnk ?

(A) ::14a8:0101

(B) 2016:0000:0000:0DB8::1428:57aa
(C) 1010:808:808:1428:0:DB8:1428:AB
(D) 2016::0DB8::1428:57ab

Google App Engine & J§ 738 — #& & 35 R A5 £E X, 2
(A)SaaS (B) PaaS (C)laas (D) GaaS

45

iy

I'_v‘ ) #{4 e

m

1
b

Vil

2

\



20. A VBREAZBETHPITTIHRASBRERXRAMT?

T=0

FOR i1=1TO 100

If i MOD 8 =0 Then
T=T+i
NEXT i
Print “T=";T
(A) T=5050 (B)T=624 (C)T=550 (D) T=440

5 k) FIERE 6053

~ AEERE . (£20)
1.VLAN(Virtual LAN)
2.LAMP(used in web development environment)
3.RWD(Responsive Web Design)
4. CA(Carrier Aggregation)
5.CA(Certificate Authority)

~ EEH i {# FH R Hy pervisorE Wi i
Typel : bare-metal hypervisor
Type? : hosted hypervisor

ARVIAREE i 2 O T I EL L S, (1093)

LARAE T ZoTishE ) o AR (59)
2.L1(2,13,37,38,42,58,69,70,93,105,116,128,159,221) ke 51 A4 51 »
A TS A HRI00R B IGTR (BaidfE) (55)

Py ~

1A[EBRIMce 2 (253)

2.5 T eI  RAM = (EE 2 (393)
3R TR - AR S 2 (50))

ﬂ ~N
1A[EERAID 2 (49))
2.Please explain the mode of operation of a variety of RAID levels,
including RAID 0,1,3,5,6,10 (A AEE ) (643)
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l.ﬂnﬁPBL(Problem—based learning) ¥ Ey% » HFEEL 2 (27))
&% L\ PBL(Problem-based learning) &% » 3+ —(EHEESE) (84))
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